

Subject.

① $f(x) = r \left[\frac{x-r}{r} \right] + a \left[\frac{x+r}{r} \right]$
 $r(1) + a(0) = r$
 $r - a = r \rightarrow a = 0 \rightarrow \left[\frac{r}{r} \right] = 0$

② $\lim_{x \rightarrow (\frac{\pi}{2})^-} [r \sin x - 1]$
 $\sin x < \frac{1}{r} \rightarrow r \sin x < 1 \rightarrow r \sin x - 1 < 0$
 $\rightarrow \lim_{x \rightarrow \frac{\pi}{2}} [0^-] = -1$

③ $\lim_{x \rightarrow -\frac{1}{r}} [1x^r - n]$
 $y'(n) = r x^{r-1} \xrightarrow{x=-\frac{1}{r}} y'(-\frac{1}{r}) = 0$
 $\lim_{x \rightarrow -\frac{1}{r}} f(x) = 0$

④ $\lim_{x \rightarrow (-\frac{1}{r})^-} [10x - \Delta + \left[\frac{r}{x^r} \right]]$
 $x < -\frac{1}{r} \rightarrow x^r > \frac{1}{r} \rightarrow \frac{1}{x^r} < r$
 $x - r = -\frac{r}{x^r} > -1 \rightarrow \lim_{x \rightarrow -\frac{1}{r}} [10x - \Delta + 1]$

$\lim_{x \rightarrow -\frac{1}{r}} [10x - \Delta] = -10$

⑤ $\lim_{x \rightarrow 1^+} \frac{\sin^r x}{1 + \cos x}$
 $\lim_{x \rightarrow 1^+} \frac{1 - \cos^r x}{1 + \cos x} = \lim_{x \rightarrow 1^+} \frac{1 - \cos x}{1 + \cos x} = 0$

⑥ $\lim_{x \rightarrow 1} \frac{\sqrt{x^r + r} - \sqrt{x^r + 1}}{1 + \sqrt{x}}$
 $\lim_{x \rightarrow 1} \frac{\frac{r}{2\sqrt{x^r + r}} - \frac{r}{2\sqrt{x^r + 1}}}{\frac{1}{2\sqrt{x}}} = \frac{\frac{r}{r} - \frac{r}{r}}{\frac{1}{r}} = \frac{-\frac{1}{r}}{\frac{1}{r}} = -\frac{r}{r}$

⑦ $\lim_{x \rightarrow 1} \frac{x^r - \sqrt{x} + \Delta}{x^r - \sqrt{x} + 1}$
 $\lim_{x \rightarrow 1} \frac{x^r - \frac{1}{\sqrt{x}} + \Delta}{x^r - \frac{1}{\sqrt{x}} + 1} = \frac{1 - \frac{1}{1} + \Delta}{1 - \frac{1}{1} + 1} = \frac{\Delta}{1} = \Delta$

⑧ $\lim_{x \rightarrow 0} \frac{a + \sqrt{bx + c}}{x} = \frac{1}{r} \rightarrow a + \sqrt{c} = 0 \rightarrow \sqrt{c} = -a$
 $\lim_{x \rightarrow 0} \frac{b}{\sqrt{bx + c}} = \frac{1}{r} \rightarrow \frac{b}{\sqrt{c}} = \frac{1}{r}$
 $\sqrt{c} = -a \rightarrow b = \frac{\sqrt{c}}{r} \rightarrow \frac{-\sqrt{c} \times \sqrt{c}}{\sqrt{c}} = \frac{-1}{r}$

⑨ $\lim_{x \rightarrow -\frac{\pi}{2}} \frac{f + K \left[\frac{x}{\pi} \right]}{\sin x} = +\infty$
 $\frac{f - rK}{\sin x} \rightarrow \frac{f - rK}{0^+} \rightarrow \frac{f - rK}{0^+} > 0$
 $\frac{f - rK}{\sin x} \rightarrow \frac{f - rK}{0^-} \rightarrow \frac{f - rK}{0^-} < 0$
 $\rightarrow \frac{f}{r} < K \rightarrow -\frac{1}{r} > K > -r \rightarrow [-1/r] = -r$

$$\textcircled{1} \lim_{x \rightarrow \infty} \frac{b\sqrt{x^2 + x} - 2b}{ax - b} \xrightarrow{\frac{\infty}{\infty}} \lim_{x \rightarrow \infty} \frac{b\sqrt{x^2 + x} - 2b}{\frac{b}{a}x - b} \xrightarrow{\frac{\infty}{\infty}} \lim_{x \rightarrow \infty} \frac{b\sqrt{x^2 + x} - 2b}{\frac{b}{a}x - b}$$

$$\rightarrow \frac{b(\sqrt{x^2 + x} - 2)}{b(\frac{1}{a}x - 1)} \times \frac{\sqrt{x^2 + x} + 2}{\sqrt{x^2 + x} + 2} = \frac{x^2 + x - 4}{\frac{x^2}{a} - 1} \times \frac{1}{12} = \frac{x \rightarrow \infty}{9(x - 1)} = \left(\frac{1}{9}\right)$$